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The chemical formula for baking soda is NaHCO,.how many

sodium (Na) atoms are there in one molecule of baking soda?

NEST AT IO

OS5 Ay Aunga g 3o O3S e (51 Ao 3l

455 fmi ! L.,.sn Jalih

il glil) 45l gl




€ daimall Aol Al Sl dasblad) saldl Le
€12 LadibheS &l pail &l pde Ll aen — 49

- - s

ﬂ*" - el =T u]«
| = | sl ) 8 55 a5 ¢ sa (33U |
| sl e « osll i

¢ oLl il daall sl Yl L 52

e S S s QB Ll Bale g mle i o) sl ae mleal) Jeldi 2o 7

3 11
10 7

= N203 o 1 ] | oy el o8 ]

s A I S| ] g il A ] 0 -

Ticl qﬂ.‘j:;.}n )gﬂ“%:\.m‘ﬂ\'.a-'l
T bl Jeal ek Jelii G e la— 61
ol el 4 Vel it iy el LG § g Jea “Enr 48
oy W] gl o st iy s o1 5 e b % | e T
$& S el | 3l a G| |

e B (s sl i g s ) Ll ol an - 74 ¢ s jao Le_§7

~ - Dogulae ] | Dol oo | o

............. Ll 9 sl Sa gy Q8L sl g 75 .
e 9 sl Fun g a8 Ll A $# ¢ sy el ol i Lo 68

I 3.:1..1:-'@ E:Lm - —
| L Alolaie ¢ By e
< H,0 = d o




The figure below shows different types of mixtures, study it and
then answer the question:

Which letter of the following indicates a homogeneous mixture?
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Which processes release carbon dioxide?
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Based on the figure below, which of the following

are not signs of a Chemical Change?
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In the reaction below, the acid and the base cancel il 5 Wlly panall o S AL Jol 1 A
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Use the table below to answer the question:
Which of the following values is the best estimate for
the grams of sugar that can dissolve in 100 grams of

water heated to 40°C?

Solubility of Sugar in Water
Temperature Grams of sugar
in degrees per 100 grams
Celsius of water
20 204
30 219
40
50 260
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A student made this model of carbon dioxide molecule.
which has one carbon atom and two oxygen atoms.

What is the correct chemical formula of carbon dioxide?
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